
Class:Class 5 Subject: Maths Topic:Factors and Multiples

S.No Question Answer Options

1 Find the LCM of 39, 195 and 
51.

3315

3300

3351

3051

3315

3300

3351

3051

2
Find the HCF of 5555, 8888 
and 6666 using prime 
factorisation method.

101

11

2

1111

101

11

2

1111

1
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3

2 cyclists are taking round of 
a park. Cyclist A does the 
round in 30 minutes and 
Cyclist B does that in an 
hour. If at 5 AM they both 
start together, when will 
they meet again at the start 
line?

7:00 AM

6:00 AM

5:30 AM

6:30 AM

7:00 AM

6:00 AM

5:30 AM

6:30 AM

4
If the HCF of 14 and 21 is 7, 
what is the LCM : 
____________

Answer
____________

Answer
____________

5 Divide : 4½ by 1¼ = 18/5
True

False

True

False
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Correct Answer is
1. Correct Ans option is 3315
2. Correct Ans option is 1111
3. Correct Ans option is 6:00 AM
4. Correct Answer is 42
5. Correct Ans option is True
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